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Paper II
Aptitude Test
[Marks : 200

s second freedom struggle te rid

Duration : 2 Hours]
Directions (Guestions 1 to 5) : Read

the following passage and
answer the guestions that
follow ¢

Dimensions of corruption have
becoms a part and parcel of our
national life. At the time of inde-
pendencs, a statesman like C.
Rajapopalachari ealled the Public

Works Department the biggest |

enemy of the eountry, in terms
of ecope for eorruption that the
department provided. Today every
department, nay, every stratum of
society, has beeome a Public Warks
Department, A Prime Minister
buys MPs to secure a majority for
the ruling party. Corruption has
seeped g0 much into wocety that
it was the running theme of the
President, the Prime Minister and
the Speaker during the golden
jubiles eolehrations of the country's
indopendence. The then Spealer,
Mr. P.A. Sangmn, ovoen called for
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the country of sorruption. Both, the
former Election Commissioner Mr.
T.N. Seshan and his succsssor, Mr.
M3, @il have called for electoral
roforms to strike st the roots of
corruption. Bul the resulis of the
just held assembly elections in
various states show that even
eriminals can win sesis in the
Assombly.

Which of the following is a eorrect
statemont 7

(A .Tt‘ne passage deals with the
ethics of politics.

(B) The author OXPrORSas hia
concern over the rampant
corruption prevalent in our
country.

(Y The passage dizcusses the
aconomie development of
India,

(D The author wants the com-
man man {o tike steps to curb
corTupkion.



Which of the following cun be
deduced from the passage ?

(A) All politicians oetupying
prune positions are corTupt
and buy MPa.

(B} Corruption has sceped into
every aspect of our society,

() Our political system is com-
pletely marred by eriminals,

{I¥y All politicianz are corrupt
and oppose electoral reforma

The most appropriate heading for
the passage would be :

{A) Politicians and Corruption

{B) Politicians, Criminals and
Our Political System

(C) Corruption : Problems and
Perspectives

(I} Corraption and Publie Lifo

What does the author mean by a
second freedom struggle 7

(A} Deapite getting freedom from
the British our country is still
not froo.

(B) We got freedom from the
British but anow we have to
struggle again to get freedom
from eorruption.

() We have to wage a freedom
struggle for electoral reforms.

(N We have to launch a second
struggle for freedom in soci-
ety
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According to some election com-
nmussioners, clectoral reforms are
needed so that :

(A) free and fair elections can be
ensured.

(B) corruption can be weadsd out.

(C) the commissioners can do
their duty fearlessly.

(I} econbtinued frecdom of fran-
chige can be ensured,

Directions (Questions 8 to 10) : Read

the following passage and
answer the questions that
follow :

The idea of building “Satellite
Towns™ to absorb growth ia fre-
quently considered a cure-all for
urban problems. It is errcneously
arsumed that if new rosidants can
be diverted from existing centres,
the present urban situation at
Inast will get no worse. It is further
and equally erroneously assumed
that since such towns in Europe
which have been developed with
a focus on social needs havo been
succeszful, we can expect the same
gort of result in India,



Fresent planning, thinking, and
togrisfation will not praduca the
kind of Satellite Towns that have
beent suceessful abroad, It will
multiply suburbs or encournge
developments in areas where land
i5 cheap and construction profi-
table rather than whers Satellite
Towns are ginuinely nesded,

Buch ill-considercd projects not
only will fail to velieve pressures
an existing cities but will, in fact,
tend to weaken these cities further
by drawing away high-incoma
citizens and increasing the concen.
tration of low-income groups that
are unable to provide tax revenues,
The remaining Laxpoyera, acoor-
dingly, will faoe inereasing burdens,

and industry and commerce will

soek escape, Unfortunately, this |

mechanism ig already at work in
somye metropolitan areas.

The passage implies that
Satellite Town prajects are oftan
considered a viable salution to
the problem of :

LA}  poverty in the central cities

(B) exenssive suburban popula-
tion

(0} uncontrolled urban growth

(LY declining properly values

25 100 e

!
i

It can be infarred from the passage
that the wuthor regards pagt and
present Satellite Town projects in
India as -

LAl poorly planned

(B} socially innovative

[(C) hampered by government
regulation

(D] financially sound

According to  the PRASSAZE,
European Satellite Towns have
been designed with greater
concern for :

(A} socinl neads
(B} typienl suburban lifp-skyles

() the profits of builders and
developers

(D} the needs of high-income
resicdents

It van be inferred from the
passage that the author congiders
present Indian Satellite Town
faws to be ;

(A overly Hﬂﬁ&l‘.’-&

(B}  impreperly planned

() pelitically expediont
(B unrealistically idealistic
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In the present scenario of Indian
Satellite towns, laxpayers will face
mcrensing burdens because

1Al Ehe commerce and industry
gectore do nol meet their tax
liabilities.

(B} théere has been an increase in
the number of suburbs,

(0] the towns have been dove-
lopead without proper legisla-
teom,

(M) the towns have low income

groups which do not add Ea
tnx rovenues,

Directions {(Questions 11 to 15} :

11.

Each sentence below has two
blanks and is followed by four
gets of words. Choose the sct
of words that best fills in the
blanks

It would be wvery easy to
................................... . the work af

III'|!|'I.'IE'I'E if we had the technolegical
T e P T - o do o

{A) produce; incentive
(B}  populate; inefficiency
() ereate; inability

() duplicate; efficlency
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12,

14.

The worl of an afficlent person is
................... < I AL e s

(A) Lrue; angles

(B}  mocurate; aspects
(3] improper; progpacts
(L} capnble; perspectives

B Al s s i i cvveene Taret that
ancient Indiam ..o
could caleulate the eclipses -:-Fttnz
sun and the moon,

Wh)  historic; astrologers
(B} historical; astronomers
(01 scientific; botanists
(1 kncwn; biolegists

Muoditation  helps g to
.................................... an the preseat
|ll'|d rinaasanes S18 past
arvd I:hr: futu:n::-

{A) focus; ignore

{B) think; abliterate
Ch clarily; repoir
(D} cope; forget

Writersa .. ) e e e - mAnY
worlde at one and the sume me
and all of them are egually

) elear; improper
3y beantify; ugly
() lorget; tampered
() inhabit; e



Read carefully the statements and
eonclugicns given below and

answer the question that follows |
Statements :

Bamasxh 1= a very good sportsman.
Sportsmen have good health,
Coneclusions

(I All healthy individunls play

Eports.

(Il) Ramesh is a healthy indi-
vidual,

Which one af the following is

corrert T

(A Only conclusion I follows

fram the statement.

Only conclusion I follows

(B}
from the staternent.

Bath eonclugions I and [
follow from the statement.

(s

Metther conclusian I nor con-
clusion 11 followe from the

slabermant,

(LH

55 : 10AP02—A

10

17,

Given below 18 a statement
followed by Ewo ressons. You
hove to decide which of the
rersans is strong, Choose answors

fram the alternatives gmven.

Statement !

There should be & ban on steikes,

Renson 1. Yes. It is essential to

maintain discipline among the

pmployecs.

Reason 2, Mo, 1t is contrary to the

democratic rights of the cilizens.
(A) Reason 1 is strong
(B} Heason 2 iz stromg

(C) Both 1 mamd 2 are atrong

(D7 MNeither 1 nor 2 iz strong



Directions (Questions 18 to 20) ;
Choose the [ligure that
deseribes the three given
elagses in cach guestion.

() €9
D@

18.  Pemale, Spertsperson, Musician

A1
By 2
(€ 3
i 4
1%,  Lecturer, Post Graduate, Player
(A} 1
(B} 2
(c} 3
im 4
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21,

22,

Drawing room, Window, Wall
(A 1
(B} 2
) o
Wy 4

Three of the following are alike in
A certain way and form a group.
Which one does nof belong to that

group 7

(A} wup

(B]  jug

() tumbler
i plate

How many such pairs of digits are
there in the number 53146827
each of which has ss many digits
between them in the pumber as
we gelt when the digits are
arranged in ascending order
within the number 7

LA} one
(Bl two
() thres
(I3  none
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A's mother is sister of B and
daughter of C. D is the daughter
of B and sister of E, How iz O

ralated to E 7
(A) Father

(B) Uncle

(0} Grandmother
I Grandfather

Yunus said, thiz girl is the wife
of the prandson of my father' Who
iz Yunus to the girl 7

(A] Husband

{B) Father

(C}  Grandfather
(I Father-in-law

Pointing to a man, Sushama said,
*his mother is the only daughter
of my mother,” How is Sushama

i ralated to the man 7

(A} Daughter
(3] Sister
{C} Mother

(I  Grandmother

L4

Rahim started walking straighi
facing east. After walking 2
distance of 2 moters, he took o
right turn, and again, afte
walling 10 meters, he took o loft
turn, and after walking 10 meters,
he took a left turn. Which
direction iz he facing now 7

(Al North
Bl West
(C)  East
(0 Bouth

hwakar 15 twice as old ns Labf ot
twice younger than Bablu, Mohan
ia half the sge of Latif but twice
the apge of Anand. Which of the
following individaals form the pair
of the youngest and the cldest ?

(A}l Anand and Babia

(B) Latif and Diwakar
(2} Mohan and Anand

M) Diwakear and Anand



Directions (Questions 28 to 32) 1 Carelully read the following information and
find wnawers to the questions,

In & medical college, student pdmission is made on the basiz of the following
eriteria. The students need to fulfill the following conditions |

(1)
(2]
(5
(4]
{53

(B}

Hevahe must be 18 vears of age on July 10, 2000

Students must have B0 pereent marks in CRSE axamination.
Students must have 70 porcant murks in the admission test,
Must pay Bs, 40000 at the time of admission,

In the case of a candidate, whe fulfills all sther criteria except (3} above
but hes obtained 95 percent marks in the CBSC. science examination,
should be meferred to the Dean of the Medical College.

In the case of & candidate, whoe fulfills all ather eriteria excepd (4) above
can be admitlied provisianally.

Examine the following coses and decide about them individually and choose

OMAE ERSWET,

Question | Name |Marks in | Subject | Admission | Amount | Date of

o, CBSE test marks | that can birth
be paid

25 Suman | 96 | Biolegy 6l Rs. 40,000 | Aug. 14,
| 1980

29 Alisha 93 | Biclogy 50 Rs 40,000 | April 18,
1991

an’ | James a8 Biology 75 Ia. 40,000 | Oet. 17,
1894

31 Fuamesh a1 Biology 11 lHn 208, (KD !In.llurm 19,
1901

| i : -
v | Lukman G Biology &0 Rs. 40,000 | December
17, 1804

S5 : 1NFINE—A 16
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32,

A
(B}
()
(D)
(Al
(B
{8
()
LA)
(B}
)
(I
CA)
(B}
(i
(I
(Al
(B)
()

(En

Admitted

Not admitbed

Rafer to dean
Admitbed provisionally
Admitted

Mot admitted

Hefer to dean
Admitied provisionally
Ackrmilbed

Not admitted

Befer to I;Ee-an
Admitted provisionally
Admitted

WNet admitted

Refer to denan
Admitted provisionally
Admitted

Not admitted

Refer te dean

Admitted provisionally

: VPG —A
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Directions (Questions 33 to 35) : In
the following questions, there is a
certain relationship betwesn twao
fiven words on ong side of & and
one word ig given on another side
of = while another suitable word
is to be found from the given al-
ternatives, having the same rela-
tinnship with this word as the
words of the given pair hold.
Choose the correct aliernative.

3. Anger ; Provocation :; Fear ; 7

(A) Panic
{B) Threat
{C) Force
i Compulsion
4. Man : Machine :: Master : ?
(A Manager
(B} Worker
(G} Slave

(D} Home



86. Bird ;: Wing :: Fish : ¢ 98. Which word does nat belong with

(Al Tail Ho pthaorn 1
(B) Fin Gl
(C) Water () oat
D) Push 2L
D) root

Directions (Questions 36 to 38) :
Throe of the words will be i the | pyoetions (Questions 39 to 41) @ In
same category the remaining ona the serins given below you will be
will mot. Your nnswer will ba the looking at both the letter pattern

:;: word that dees ““‘:]:f]':;f e and the number pattern. Fill the
sarme category ns the others. blank in the series.

. ich. belong wi
36, Which word does nad g with 36 ELFA, QLHA, TLJIA, ..o

the others 7

MLHNA
=Y ik

| (A} OLPA

(B) fute

(B) KLMA
(0} wielin

¢y LLMA
{03 cello

i EKELLA

47, Which word does not belong with

tha athera 7 40, CMM, BOO, G, i ., KILTLT
(A dodge (Al GHR
{B) Dee By GSE
i) duck {Cy 1588
M) avaoid (M ITT

S5 1 1N(PWO2=—A i
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QPO0, NML, KJL, ......cccoeeo, BDC
A} HGF
(B) CARB
(Ch JEL
(13 GHI

Directions (Questions 42 to 44) : Each

43,

quastion has an underlined word
followed by four answer choices.
Choose the waord that &5 a neces-
sary part of the underlined werd.

language

A tongue
(Bl slang

(C)  writing
{I¥ words
schioal

(4)  student
{B) report card
(C} test

(D) leaming
pain

(A} cut

(B} buorn

(2] naisanoes

(D hurt

B85 ¢ TOMPVO2-—4A

Find the minimum nomber of
straight lines required to make the
given fgure,

(Al 16
(B) 17
(C) 18
o 19
Chooee the fgure which is diffe-

[

e

47,

1)

(2} L] (4)

(4) 1

(By 2

) -3

I 4

Idemtify the Agure that completes
the pattern,

e

L) (1) 2) (3 )

{A)
(B}
()
)

= e =



4.

44,

Referring to a photegraph of a
male person Rajesva remarked
“The mother of this person

happene to be the wife of my |

father's snomn. 1 do not haove
any smster or brother.” The person
being indicated by Hajesva is

hiE e T T T N T R :I

(A}  son

(B} cousin
() uncle
(N nephew

Find the statement that must
be true according to the given
information :

Last summer, Mukesh spent two
wieeks al g sumemer canep. Thera,
he went hiking, swimming, and
canoeing. This summer, Mukesh
looks forward to attending o Ewe-

week music camp, where he hopes |

bo sing, danee, and leamn to play

the gomtar.

{A} Mukesh’s parents want him
fo learn to play tha guikar,

(R} Mukesh prefers music to

cutdosr activities,

Mukesh goes 1o some type of
CAMp SVETy EANNIEr,

(G}

(3 Mukesh lhkes to sing and

danos.

95 1 TNENDZ—A
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61.

Taras commute never bothered
him because there were always
soats available on the train and
he was able to spend his 40 min-
utes comfortubly reading the news-
paper or catching up on paperwork,
Ever sinee the train schedule
changed, the train has been
sxtremely erowded, and by the
tima the dears open at his station,
there isn’t a seat to be found.
(A} Tara would be better off
taking the bus to work.
Tara's commute is less com-
fortable since the train sched-
ule changed.

Many commuters will com-
plain about the new train
schedule.

Tara will likely ool for a new
joh closer to horme,

When they heard news of the
hurricane, Mayn and Mohan
decided to change their vacation
plans, Instesd of travelliog te the
iglamd beach resort, they bosked a
roomn ot 8 fancy new =pa in the
mountaing Their plans were a bit
more expensive, but they'd heard
wonderful things about the spa
and they were relieved to find
availability on guch short notice.
{A) Maya and Mohan take beach
vications overy year.

The spa is overpriced.

It e usually necossary to baok
at least eix months In
advance at the spa

Mayn and Mohan decided to
change their vacation plans
because of the hureicane,

(B}

()

(1)

(B)
{C)

(¥



Directions (Questions 52 to 851 = Study the following table and answer the
questions based on it

The following table shows the number af now employecs added to different
categories of emplovees in a company and alss the number of emplovess from
these categories who [eft the COmpany every year eince the foundation of the
Company in 1585,

Year | Managers | Technicians Operntors | Accountants Peona
New Lu-fl:.N:w Left | New | Loft | New | Loft Nl:wlLul't

1885 | 760 | — | 1200 — | B8O | — LI60 [ — | &80 | —
1906 | 280 | 120 | 272 120 | 2566 | 104 200 | 100 | 184 | 96
1997 | 179 | 82 | 240 128 | 240 | 120 224 | 104 | 152 | 88
1998 | 148 | 88 | 235 96 | 208 | 100 248 | 96 | 196 | @0
1993 ) 160 | T2 | 288 100 { 192 (112 | 292 | ag | o294 120

2000 193 | 96 | 288 | 112 | 248 | 144 | 280 | @2 | 00 104 |

52, What is the difforence botween tha 53. What was the total number of
total number of Technicians ndded -
te the Company and the total pacna working in the Eﬂmﬂ.wm
numbor of Accountants pdded ko the year 1509 7
the Company during the years
THBE ta 2000 ¥ (A) 1312
LR (B 1192
(B) 112
2 1088
(G 96
) &5 (I DES

53 : 10FND2—A 26



What is the pooled average of the
totul number of employeas of all
antepories v the vear 1087 7

(A} 1325

(Bl 11595

(C) 12686

(LY 1235

During the period betweean 1905
and 2000, the total number of

operators whoe left the company
is what percent of total number
af operators who joined the

company T
(A} 19%

(R) 21%
{Cy 27%
(D 205%

The day before the dav before
yesterday is three days after
Saturday, What day is it today'?

Tugsday
Wednesday

(A)

vB}
(G} Thursday

(D) Friday

95 100 )02—aA
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53.

b9.

Which number should come nexl
i the series ?

26, 24, 22, 19, 157
(Al 4
{B) B
(Cy 10
(o} 14

As bell iz related to “sound®, lamp
% relatod o .o T

{A) Flams
(B) Light
(C) Wick
Dy il

Read the statements and coneli-
gions, Pick the corred anawer :

Btatement 1 1 All boxes are

Statement 2 : All boxes are
chairs.

Conclusions :

{I)  All benches are chairs,
{II} Al benches are boxes.
{111} Some benches are chairs.
(IV) Some chairs are boxes.

Pick the correcd answer from the
alternatives given below ;

(A) All

{B) Only [ and II
() Only II and IV
(N Omly IIT and IV
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In a row of bovs Udai 23ed from
the left and Ashok is Bth from the
right. When they interchange their
position they bacome 18th from the |
right. What will ba the positian of
Ashok from the left 7

LAl 16th
B} 10th
Cr 40th
() Data inadequate

Pointing to Manju, Gauray aaid,
“she ia the wife of the anly pom of
my father's father”, How is Manju
related to Gouravy 7

Al Mathor

(B} Sister

(C} Aunt

(D) Sister-in-law

Haw many eights are there in the
following number series which are
preceded by even number and
followed by an odd number 7

(A] 2
B 4
(Cr 3

S

a0 L HWPI0e—A Ak

3. In the following series which is the

fifth letter to the laft of fourtesnth
lettor from your right 7

ARCDEFGHLIELMNOPQRSTUVWIYE

(A) L
(B I

(Cy o
(o K

If the first Jetter is interchanged
by Gth letter, second letter by Tth
letter and 30 on, in the word
INTERVOLVE, then which will ba
the: sixth letter from your right in
the new word ?

Ay L

(B} E

) v

o 0

CTPN : DEQM = MUSK : 7
(A} NITJ

(B3 NVTL

(C} NTTL

(D) LTRJ
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6.

In & certain code HOUSE is
written as FTVPIL. How is CHAIR
written 7

tA) MBFVA
(By BFVMA
{Cy AMBFV
(D] YFBMA

Three of the following are alike in
eerinin way and se form a group.
Which is the one that does not
belang to the group 7

(A) PH
B EM
() PR
(D JM

Six people P, Q, R, 8, T, 1J are
gitting in & cireular path, who are
facing the center, B is Srd from P
in the right. Q is 3rd from T in
the [oft. 17 18 between P and T, 8
iz 9rd from U in the lell.

What is the order of the six people
from the left ?

(A BQRUTE
(B] TSRQUP

(C) SRTUPG
I} SQPUTH

85 : LPVI2—A
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71,

Ram is five times as old as Shyam.
If their difference of uge is 8 vears,
then how old ts Ram ?

(A} 3 years

(B) 10 vears

(C} 12 yemrs

(D) 5 years

A person climbs up a pole of
88 meters high, In every minube
he climbe 12 meters but slips dewn
8 meters, How much time will he
take to reach the top ?

(A 19

{B) 24

(C) 28

(L} 22

Threa of the following are alile
In certain way and so form a
graup, Which does not belong to
the group ¥

ay 17

(By 1%
{C) 23

(D 27
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Five boys Mahindra, Anjani, Anil,
Anand and Alok are sitting in a
row. Anil 5 not a neighbour of
Anjani, Mahindra is not the neigh-
bour of Anjane. Anil is a neighlour
of Alok. If Alak is just in the
middle, who is the neighbour of
Mahindra 7

(4) Anund
(B} Alok
(C} Anil
(0} Anjani

Eight executives J, K. L, M, N, O,
P, & are gitting around a cireular
tuble for meeting. J is 2nd to the
right of P who is 3rd to the right
of K. M is Znd to the left of O, who
sits botweon P and J. L is not a
naoighbour of K or N.

Whao is to the immediate left of
KE*?

(Al N
(B] J

) q
(I Cannot say

4.

Th.

T6.

a4 -

Find the odd one cut :
(A) BFD
B} NRP
(C} HLG
() QuUs

A techrnigque that might be used by
an active listener is to |

{A) explain the
meaning

spenker’s

(B} paraphrase the speaker’s
TR YL
(C)} express concorn

M) offer a poant of view when in
conversation

A message can only be desmed

effective when it 18 :

(A} understood by others and

p-rnlin.-:lau the intended
reaults

(B)} repeated back as proofl of
understanding

(C) communicated fce to face
{0 delivered with confidence



79,

Those who have effective interper-
sonal skills will be able to :

(A} sympathize with people

(B} direct people

(C} empathize with people

(D

persuade people

The tone of a complaint letter is

likely to be :
(A)  Matter-of-fact

(B)

Hurmorous
(C1  Tronic

(D}  Angry
What type of Websites are Face

Book and MySpace ?

(A)

Peorsonal
(B) News
()

Informational

(D)  Adwocacy

S5 10MPVOE—A
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80,

81

32,

When implementing vour

strategies it is important to

establish :

(A) goals and mission state-

mernts,

visions and values.

(B)

(C) time lines and check points.

()

plans and priorities.

If the fractions 5%, 7/8, &/7, 8/9 are
arranged in descending order then

the correct sequence is 3
(A} &b, /8, 67, &9
(B) 5/6, 6/7, 7/5, 5/9
(C) 89, T8, 56, 67
(D) &9, 7/8, 6/7, &/6

The value of J0.0625 is :
{4y 2b
(B) 25
(C) 025

(D) 0.025



i

Ifa:b=2:5 then the value of
(8r + &b) ; {Te + B&) is ;

(A} 1938
LH)  Bo13
() 31719
() 130
Conzider the following ;
2+ L
1
14—
s

The correct value of the above
18 :
(A
(F)
(C) 12%

Dy 145

If the sum and difference of two
numbers are 20 and 4, then the
product 15 :

(A B4 .

By 108

{Cr 54

(L} 96

S5 LVPV02-—A

ad

a7,

The LCM. of 25, 34, 58 m |
(A) 30

(B) 24

(&0
72

Which one of the following is the
smallest 7T

(A) 6415

By 9v

() g2l
M 16
Which term of the arithmetie

progression 100, 85, 90, .. I8

10 7

(A) 15th

(B) 18th

() 20¢h

(L 2ist



91.

If x + ¥ » 3, then the value of |
:."3+:|."E'i-.'a;

&) 10
(B) @
() &
o 7

The sum of the seriea 2% + 3% &+
v 102 is

(Al 386
(B) 380
(C) 354
(B0 383

A ericketer has completed 20
innings and his average s 44.5
runs. How many runs must he
matke in the next innings so as to
raise his average to 45 1

tA) BB
(B) 60
(C) 50
(D) &4
Consider the following scares
5000, 5000, 15000, 5000, GO0

Which one of the following is
corment T

(Al mean = medion = maode
(3] mean = median < mode

(2] mean < median = mods

(N mean > median = mode

55 10 —A 40

a3.

85,

o,

The arithmetic mean of ;
1.3, B, vy 2n = 1
s :

Al n

Mﬂ
n+1

{B)

C} =1

ui+1
i

The Mean of ten observations is

23. If two observations 4 and 7 are
substituted by 3 and 5, then the
new viloe of Mesn will b

(A} 20
(B} 19
(C)} 23
(o 25

What 15 the Mode of the following
sat of observations 7

30, 7.0, 4,81, 6, 4,18, 0,5, 1, 4, -70
{4) 0
(B) 4
)y —13
oy 2
The Mean of 10 shasrvations is 21.
If each observation is multiplied

by 4 and 5.5 subtractad from each
of them, then the mean will e :

[A) 79
(B) 81
iy B4
(18

(13




%7. The following is the distnbution | 99, Consider the following table :
of morks in Mathermatics for

15 students Region| MNo. of | Percentage
73, 02, 57, B9, 64, 95, 65, T6, j
: EE, 'EE, '1!5.. 4_'1' Tg| IE'.E:' B inhahitants ﬂf hiterates

Caonsicler the fbllewing statements © | {in millions)

({1 the percent of students with

marks batweon T0 and 30 is A 20 B0

samo as that betwean S and
100 B 7] 41

(i) the percent of students with o 20 a0
murks between 80 and T0 is -
niot: the same as that betwoen The percent of litevates for all the

40 and 50
threa regions taken topether is :
Which of the absve statemonts 15/

are frue 7 (A)y 45
(A) (i} omly
{B) (&) only
{2y both () and () () 40
D) mneither (0} nor (G0 48

68, In a survey each of the 1500
interviewers responded as yes' or | 100, In a statistical investigation of

{B) 30

E‘i;ﬁh“ results are tabulated 106080 families of a city, it was feand
e that 80 families had neither a
e Pin IHEH ik radio nor o TV. T80 families had
- - i radio and 210 families had a TV.
Yes s How many families in the spmple
Hu- i had both ¥
The difference between the
number of interviewers saying (&) &0
Yoe' and that sayving o' is :
iHy 10
(A) 260
(H} 300 (Cy S0
S0
) Iy 100
ey 400

S 1oNPvo2—A 12



